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s 48,051,688 39,394,029 8,657,659
= 654,300
& 27,121
< 2,394,052
Al 44,976,215
ABIES WEWA =4 48,010,144 39,394,029 8,616,115
= 654,300
&2 27,121
< 2,394,052
Al 44,934,671
SEHQ L= 48,010,144 39,394,029 8,616,115
= 654,300
=2 27,121
= 2,394,052
Al 44,934,671
HAZSAY WX 3,000,000 2,418,650 581,350
< 1,500,000
Al 1,500,000
307 gl2tol & 3,000,000 2,418,650 581,350
< 1,500,000
Al 1,500,000
09 2HAHEXS 3,000,000 2,418,650 581,350
OAUWHA RS & AL X2 3,000,000
< 1,500,000
Al 1,500,000
ANUHEHA HXd 2AEA 271,105 256,991 14,114
< 26,555
Al 244,550
307 glz2+ol & 271,105 256,991 14,114
= 26,555
Al 244,550
09 2+HAHEEXS 271,105 256,991 14,114
OAUHA HI-Hd &48N 271,105
< 26,555
Al 244,550
AMUWHA SIXHX &l 50,000 50,000 0
401 AIEHI L 20 50,000 50,000 0
01 A& HI 50,000 50,000 0
OAUHA 3IXX B AIE FHI 50,000
ANUHHA ==2XE O - HAF MEXZ 580,000 190,000 390,000
307 21201 A 580,000 190,000 390,000
09 2HAHAEXES 580,000 190,000 390,000
OANUHA ==Xte O - HX HEXE
10,000, 000-& 58 CH 580,000
ANUHA R8s =ASH(GHGHA) 4,000,000 3,000,000 1,000,000
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307 glz2+ol & 4,000,000 3,000,000 1,000,000
09 2+=HAHEBEXS 4,000,000 3,000,000 1,000,000
OANUHA R8s ASH (M) 4,000,000
22 RFTME AMNE BXZ(HA EHALSS) 33,340,000 27,000,000 6,340,000
307 21201 A 33,340,000 27,000,000 6,340,000
09 2+=HAHEBXS 33,340,000 27,000,000 6,340,000
O22ZH MY AME BEXZ(HA EA
ate) 33,340,000
d= -2 AlUHA RIELF =4EH 2,000,000 2,000,000 0
307 21201 A 2,000,000 2,000,000 0
09 2+=HAHEEXS 2,000,000 2,000,000 0
O&=F - 2F= AlUHA st 2AEA 2,000,000
WAL MaAs &Y 1,091,200 1,974,000 882,800
= 545,600
< 272,800
Al 272,800
402 RI2EX20| ™ 1,091,200 1,974,000 882,800
= 545,600
= 272,800
Al 272,800
01 2I2tR2E X 1,091,200 1,974,000 A 882,800
OuUsSAA MaHA & 1,091,200
= 545,600
< 272,800
Al 272,800
WAL MadAs 2R3 280,000 110,000 170,000
= 84,000
Al 196,000
307 glz2+ol & 280,000 110,000 170,000
< 84,000
Al 196,000
09 2HAHAEXS 280,000 110,000 170,000
OusAX HatHA 2HAE
5,000, 000& =56 CH 280,000
< 84,000
Al 196,000
ZOHQ SEA 294 652,000 428,000 224,000
< 195,600
Al 456,400
307 glz2tol & 652,000 428,000 224,000
< 195,600
Al 456,400
05 RIZIRI & 3 652,000 428,000 224,000
OZOMQ ZSEAl 29 652,000
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< 195,600
Al 456,400
AMUHA &K 8 LED WAl 400,000 400,000 0
307 glz2tol & 400,000 400,000 0
09 2HAHAEXS 400,000 400,000 0
OAUH A X2 LED WA
3,200,000& = 1250H 400,000
d=F Hsunsgdst U2Eos 24 X& 40,000 30,000 10,000
307 glz2tol & 40,000 30,000 10,000
02 RIZHE A E X 40,000 30,000 10,000
o= H=zsnseg4ds &ags 24 X2 40,000
ZOHQ EE2S5AY 77,489 0 77,489
& 27,121
< 23,247
Al 27,121
307 glz2+ol & 77,489 0 77,489
& 27,121
< 23,247
Al 27,121
05 RIZHRI &3 77,489 0 77,489
OHM SE2SAY 77,489
=2 27,121
= 23,247
Al 27,121
ZOHQ SEA ¢ 320,000 0 320,000
< 160,000
Al 160,000
405 THabF S| 320,000 0 320,000
< 160,000
Al 160,000
01 XML = EFH St 320,000 0 320,000
OFOHel SEAl ¢ 320,000
< 160,000
Al 160,000
S8 AlLIHA 3 X& 169,750 0 169,750
201 £B-2dH| 2,400 0 2,400
02 3323l 2,400 0 2,400
Osa+=LSEH CCTValLd AIEZ
200,000 »12& 2,400
307 gl2tol & 167,350 0 167,350
05 RIZHRIE 3 167,350 0 167,350
o8s30l 2elAE 167,350
AMUHHA WSIHE 8 20,000 0 20,000
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AMBIES NEHA =4
SEXC HsLs (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
201 L2l 20,000 20,000
01 At 22l 20,000 20,000
OANUHA RE3E EE 20,000
SAXNE QIS AL EXZE AX 100,000 100,000
307 21201 A 100,000 100,000
09 2+=HAHEBEXS 100,000 100,000
OANUHA Exg® AX 2,000,000& *50CH 100,000
IHHA BHEE =8 80,000 80,000
207 A RO 80,000 80,000
01 2284 80,000 80,000
OAUHA FFAC =8EA 80,000
IHHA HAed AXEAN 29 10,000 10,000
207 Ao 2| 10,000 10,000
01 2284 10,000 10,000
OAUHA HXEd AXEAES 10,000
ANSEH Al OE 224 660,000 660,000
307 glz2tol & 660,000 660,000
09 2+=HAHEEXS 660,000 660,000
OHAZZR Al 2x2 4
20,000,000& »33CH 660,000
IHHA THEXZE oz 2¢ 2,400 2,400
201 L2l 2,400 2,400
01 At 2t 2l 2,400 2,400
OAUHATHE MoARARE sl 2,400
CIEHAI(SEAl) BHES AL 315,000 315,000
307 21201 A 315,000 315,000
09 2+=HAHEBEXS 315,000 315,000
OHOIEHA(SEHA)EHES 315,000
ST AMUHA 2 3,000 3,000
203 YR =] 3,000 3,000
03 ANBFAASFX 3,000 3,000
OALIHA BEHF =& 3,000
HASZE(RH) EHYE ZHAIE &X 30,800 30,800
< 9,240
Al 21,560
401 Al HI & 28I 30,800 30,800
< 9,240
Al 21,560




AN HHEsnsSH
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o
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01 A& HI 30,800 30,800
OHASZH(RM) BH&Z 30,800
< 9,240
Al 21,560
CXESHINSEI 22 A 217,400 217,400
= 108,700
< 32,610
Al 76,090
307 21201 A 217,400 217,400
= 108,700
< 32,610
Al 76,090
09 2HAHAEXS 217,400 217,400
OUXNE2HIZEXX 2=
00,000& *2,174CH 217,400
= 108,700
< 32,610
Al 76,090
ZOHO SE2EAMY 29 300,000 300,000
= 90,000
Al 210,000
307 21201 A 300,000 300,000
< 90,000
Al 210,000
05 RIZtREt = 300,000 300,000
OFHe EE2EAY 29 300,000
< 90,000
Al 210,000
HE2IAZH(HERSH) 41,544 41,544
J=2ZH(Wsnsn) 41,544 41,544
Jl2Zdgl(iisns) 41,544 41,544
201 Let24d] 19,824 19,824
01 At 22/l 17,524 17,524
O R<IEes=:]l 9,880
o=t 7,644
02 =24l 2,300 2,300
0332= % HAl 2,300
202 O4dl 18,720 18,720
01 = LH 4 bl 18,720 18,720
Ol F& 0ol 18,720
203 YR =&t 3,000 3,000
4 N2 YRFLH| 3,000 3,000
ORN2EYF=AHI 250,000 128 3,000




